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3anaga S-6.1. Basapbam Oryndaszap

Q

3agauva S-6.2.

Q

Toayboscras duana

P =5 k=, 2 P =10 k=,
5 F =33 k=u, F =13 k=,
Q = 40 xH, 2 Q = 20 xH,
o = 35°, a = 40°,
P g F%l 5 = 30°. P 5 = 30°.
1 1 1 1 2 2 12 1
3amaua S-6.3. Toncoponos Hamba 3amaua S-6.4. Loneuzr apos
P =30 ku, P =40 ku,
F =26 xu, F =14 k=,
Q = 60 k=, Q = 30 xH,
a = 60°, a="70°,
b = 45°. B = 60°.

3ana4ya S-6.5. 3eazunyesa Aaéna

3agaya S-6.6.

3ozuna Examepuna

P =45 kH, ) P =15 k=,
F =8 kmn, F = 28 k=,
Q = 60 xm, 2 Q = 10 k=,
o =T75°, o = 45°,
B8 = 60°. B8 = 30°.
3amaua S-6.7. Hcaxos Anexcardp 3amaua S-6.8. Kobarus asud
Q
2 P =30 k=, P =20 k=,
F =24 k=, F =21 k=,
2 Q = 10 =, Q = 40 k=,
a = 60°, a = 50°,
bp PN 77 B =45°. B =45°.




3amada S-6.9. Jlowaxosa Aauna

Q

2 P =30 k=,
F =5 xn,
2 Q = 40 k=,
a = 60°,
B = 45°.
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3amauya S-6.10.

Mosuwaros Jeonud

P =20 ku,
F =7 xu,
@ = 50 xH,
a = 50°,

B = 45°.

3agaua S-6.11. Hewaes Aanexceti

P =10 ku,
F =21 k=n,
Q = 50 xH,
a = 40°,
B8 = 30°.

3amaua S-6.12.

Q

lﬁﬁ%
2 1 1 1 1

Ilasaos Anexcet

2 P =45 km,
F =9 k=,
2 Q = 10 k=,
a = 75°,
B = 60°.

3amauga S-6.13. Ilonos Maxcum

P =40 k=,
F =15k,
@ = 50 xH,
a = 70°,
B8 = 60°.

3amaua S-6.14.

d

lﬁﬁ\ia
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Pabos Maxcum

P =45 k=,

F =3 xu,
2 Q = 10 xH,

a = 75°,

B8 = 60°.

3agauda S-6.15. Cemun Eseenuti

P = 25 k=,
F =10 ku,
Q@ = 60 xH,
a = 55°,
B = 45°.

3amaua S-6.16.

Copoxun Huxuma

P =45 k=,
F=9xku,
Q = 40 xH,
a = 75°,

B = 60°.

Cyuxos Ilasen

Q
P =15 kH,
F =19 kn,
Q = 40 k=,
a = 45°,
B8 = 30°.

3agaua S-6.18.
Q

Dedoposa Kpucmuna

2 P =45 k=,
F =21 k=,
2 Q = 40 xH,
a = 75°,
B8 = 60°.




3agauga S-6.19.

Xapusun Ilasen

P =35 ku,
F =4 xn,
Q = 20 xH,
a = 65°,

B = 45°.

3amaua S-6.20.

Lot Anexcet

P =25 km,
F = 24 xn,
@ = 50 k=,
a = 55°,
B = 45°.

3amaga S-6.21.

YQuukanv Hean

P =20 kg,
F = 28 k=,
Q = 10 k=,
a = 50°,

B = 45°.

Q

Xaszexos Maxcum

P =45 ks,
F = 24 k=,
Q = 40 =,
a = 75°,
B8 = 60°.




